TICA® RK

19" RACK TRAY FOR PRODUCTS OF THE TICA® SERIES

DESCRIPTION

The19-inch rack tray is made of powder-coated steel, offers universal mounting options for
LD installation devices of the TICA series and openings for cables for neat cable routing. A set
of blind plates for a discreet look is included in the packaging.

SAFETY INFORMATION

1. Please read this manual carefully.

2. Keepallinformation and instructions in a safe place.

3. Follow the instructions.

4. Use the accessory in the prescribed manner only.

DANGER: KEEP AWAY FROM CHILDREN! THE PRODUCT CONTAINS SMALL PARTS THAT CAN BE

SWALLOWED AS WELL AS PACKAGING MATERIAL THAT CAN BE SWALLOWED! PLASTIC BAGS MUST
BE KEPT OUT OF THE REACH OF CHILDREN!

PRODUCT INFORMATION

This item is a product-specific accessory intended exclusively for use with LD Systems
TICA Series products. These installation instructions do not replace the user manual of
the associated product. Always read the relevant user manual first.

This accessory has no influence on the intended use of the associated product. Observe
the safety instructions in the user manual of the associated product! The technical data
given in the user manual may change in connection with this accessory.

FEATURES

« Universally applicable for quarter, third and half 19 inch installation units
of the LD TICA series

 Marked mounting holes

= Openings for cables for clean cable routing

« Ventilation holes

PACKAGING CONTENT

Remove the product from the packaging and remove all packaging material. Please
check the completeness and integrity of the delivery and notify your distribution
partner immediately after purchase if the delivery is not complete or if it is damaged.
The packaging content of the product LDTICARK includes:

* 1X LD TICA RK 19 inch rack-tray

« One twelfth, one sixth, one quarter and one third 19-inch front plate each

e 8 M3x10 countersunk screws

« Installation instructions

MANUFACTURER'’S DECLARATIONS

Manufacturer's warranty & limitation of liability

Adam Hall GmbH, Adam-Hall-Str. 1, D-61267 Neu Anspach

E-mail: Info@adamhall.com / +49 (0)6081/ 9419-0.

Our current warranty conditions and limitation of liability can be found at:
https://cdn-shop.adamhall.com/media/pdf/MANUFACTURERS-DECLARATIONS_LD_SYSTEMS.pdf
In case of service, please contact your sales partner.

DISPOSAL
Packaging:
1. Packaging can be fed into the reusable material cycle using the usual disposal methods.

2. Please separate the packaging in accordance with the disposal laws and recycling
regulations in your country.

Product:
Dispose of the product in accordance with the applicable disposal regulations in your country.

Subject to misprints and errors, as well as technical or other modifications!

INSTALLATION
1 The mounting holes on the underside of the rack tray are marked with letters
indicating which holes match each chassis size.
ﬂ One-third 19-inch units with shallow installation depth (e.g. LD MSMP)
B Quarter19-inch units
G One-third 19-inch units with normal installation depth
n Half19-inch units

To avoid damage to the units, use either the supplied countersunk screws or
commercially available M3 countersunk screws with a length of 8 to 10 mm
maximum for mounting to the rack tray.

2 Integrated rack brackets with mounting holes for mounting the rack
trayina19-inch rack.

LDsystems

3 Openings for cables in the rear part of the rack tray enable clean cable routing
and fastening of cables with cable ties.

4 Ventilation openings are located on the underside and in the side panels
of the rack tray. To avoid damage to the mounted units, do not cover the
ventilation openings and ensure that air can circulate freely.

OCOQOOOOOOOOOOOOOOOOO

OC 4 C)OOOOOOOOOOO OOOOOO

OO~ O7O7O OO0 000

o ® oo o o e © ee @ ®
® ® ® ®

@ nan

N e e e T el

Front plates in various widths are included in the packaging content. The corresponding front
plate is screwed tightly into a gap between two units on the rack tray to get a closed front

D [a)
©O 0 |O0oOo . | |
o ) o |
DIMENSIONS |
I .
EJF %:\ |
o
I o
622
+ * | |
S + RS SR S S S S |
S OAOA~AOA0AOAOAOAOAOAOAO
(0)X0) X0y L0y X o)y Lo ey le) Y o) Ke)
OROROACAOACROACAROAOAO
0CEPPHCECHCHOCHCHCH
+ + o+ + 4+ ] 035
+ ‘ | | L
+ + ++ + + + o+ - ) * E
SPECIFICATION

Product number: LDTICARK

Product type: 19-inch rack tray
Compatibility: Units of the LD TICA series
Material: Steel

Finish: Powder coated

Colour: Black

Dimensions W/H/D: 485 mm / 431 mm / 400 mm

19.1inch /17inch /157 inch
17kg /375 Ibs
8 M3 x 10 countersunk screws, 1set of front plates

Weight (without front panels):
Accessories included:

Accessories (optional): Half19-inch front panel

LD Systems” is a registered brand of the Adam Hall Group
Adam Hall GmbH | Adam-Hall-Str. 1| 61267 Neu-Anspach | Germany | Phone: +49 60819419-0 | adamhall.com


https://cdn-shop.adamhall.com/media/pdf/MANUFACTURERS-DECLARATIONS_LD_SYSTEMS.pdf

TICA® RK

19" RACKWANNE FUR PRODUKTE DER TICA® SERIE

BESCHREIBUNG

Die 19-Zoll-Rackwanne ist aus pulverbeschichtetem Stahl gefertigt, bietet universelle Befes-
tigungsmaglichkeiten fiir LD Installationsgerdte der TICA Serie und Kabeldurchldsse fiir eine
saubere Kabelfiihrung. Ein Satz Blenden fiir eine dezente 0ptik ist im Lieferumfang enthalten.

SICHERHEITSHINWEISE

1. Lesen Sie diese Anleitung bitte sorgfaltig durch.

2. Bewahren Sie alle Informationen und Anleitungen an einem sicheren Ort auf.

3. Befolgen Sie die Anweisungen.

4. Verwenden Sie das Zubehdr nur in der daftr vorgesehenen Art und Weise.

GEFAHR: VON KINDERN FERNHALTEN! DAS PRODUKT ENTHALT VERSCHLUCKBARE KLEINTEILE UND

VERSCHLUCKBARES VERPACKUNGSMATERIAL! KUNSTSTOFFBEUTEL MUSSEN AUSSER REICHWEITE
VON KINDERN AUFBEWAHRT WERDEN!

PRODUKTINFORMATIONEN

Bei diesem Artikel handelt es sich um produktspezifisches Zubehdr, das ausschlieRlich fir
die Verwendung zusammen mit den LD Systems Produkten der TICA Serie vorgesehen ist.
Diese Montageanleitung ersetzt nicht die Bedienungsanleitung des zugehorigen Produkts.
Lesen Sie immer zuerst die entsprechende Bedienungsanleitung.

Dieses Zubehdr hat keinen Einfluss auf den bestimmungsgemdRen Gebrauch des
zugehdrigen Produkts. Beachten Sie die Sicherheitshinweise aus der Bedienungsanleitung
des zugehdrigen Produkts! Die in der Bedienungsanleitung ausgewiesenen technischen
Daten konnen sich in Verbindung mit diesem Zubehdérartikel verandern.

FEATURES

« Universell einsetzbar fiir Viertel-, Drittel- und Halb-19-Zoll-Installationsgerdte
der LD TICA Serie

« Gekennzeichnete Montageldcher
« Kabeldurchlasse fir saubere Kabelfihrung
« Loftungslocher

LIEFERUMFANG

Entnehmen Sie das Produkt aus der Verpackung und entfernen Sie samtliches
Verpackungsmaterial. Bitte tiberprifen Sie die Vollstandigkeit und Unversehrtheit
der Lieferung und benachrichtigen Sie Ihren Vertriebspartner bitte unverziiglich
nach dem Kauf, falls die Lieferung nicht komplett oder beschddigt ist.

Im Lieferumfang des Produkts LDTICARK sind enthalten:

* 1x LD TICA RK19 Zoll Rackwanne

« Je eine Zwdlftel-, Sechstel-, Viertel- und Drittel-19-Zoll Frontblende

« 8 M3x10 Senkkopfschrauben

« Montageanleitung

HERSTELLERERKLARUNGEN

Herstellergarantie & Haftungsbeschrankung

Adam Hall GmbH, Adam-Hall-Str. 1, D-61267 Neu Anspach

E-Mail Info@adamhall.com / +49 (0)6081/ 9419-0.

Unsere aktuellen Garantiebedingungen und Haftungsbeschrankung finden Sie unter:
https://cdn-shop.adamhall.com/media/pdf/MANUFACTURERS-DECLARATIONS_LD_SYSTEMS.pdf
Im Servicefall wenden Sie sich an Ihren Vertriebspartner.

ENTSORGUNG

Verpackung:

1. Verpackungen kdnnen Uber die dblichen Entsorgungswege dem Wertstoffkreislauf
zugefihrt werden.

2. Bitte trennen Sie die Verpackung entsprechend der Entsorgungsgesetze und
Wertstoffverordnungen in Ihrem Land.

Produkt:

Entsorgen Sie das Produkt gemdR den in Ihrem Land geltenden Entsorgungsvorschriften.

Druckfehler und Irrtiimer, sowie technische oder sonstige Ainderungen sind vorbehalten!

MONTAGE
1 Die Montageldcher auf der Unterseite der Rackwanne sind mit Buchstaben gekenn-
zeichnet, die anzeigen, fiir welche GehdusegroRe die Locher vorgesehen sind.
n Drittel-19-Zoll-Gerate mit geringer Einbautiefe (zB. LD MSMP)
u Viertel-19-Zoll-Gerdte
G Drittel-19-Zoll-Gerate mit normaler Einbautiefe
[ +aib-19-2011-Gerdte

Um Schdden an den Gerdten zu vermeiden, verwenden Sie fiir die Montage an der
Rackwanne entweder die mitgelieferten Senkkopfschrauben oder handelsibliche
M3 Senkkopfschrauben mit einer Lange von 8 bis maximal 10 mm.

LDsystems [&}

2 Integrierte Rackwinkel mit Befestigungsldchern zum Montieren
der Rackwanne in ein 19-Zoll-Rack.

3 Kabeldurchldsse im hinteren Teil der Rackwanne ermdglichen eine saubere
KKabelfiihrung und das Befestigen der Kabel mit Kabelbindern.

4 Liftungséffnungen befinden sich auf der Unterseite und in den Seitenteilen der

Rackwanne. Um Schdden an den montierten Gerdten zu vermeiden, decken Sie die
Luftungs6ffnungen nicht ab und sorgen daftr, dass Luft ungehindert zirkulieren kann.

O0rO~0~C~OAO~O~OAO~O~O
Oc 8 305050505050505050
O-O7O0707O0 07070707070

® ® ® o

® o

N e e e T i

Im Lieferumfang sind Frontblenden in verschiedenen Breiten enthalten. Die entsprechende
Frontblende wird fiir eine geschlossene Front in eine Licke zwischen zwei Gerdte an der
Rackwanne festgeschraubt [

[e) [«)
Joo oo @] o J°
O o o o
ABMESSUNGEN R
‘ 1586
65 |
mp
s +* + o+ :¢ &‘« ++ o+ ‘*
= ONCACACACACACACAOAOAO
OROZ0ROZORORORORORO
OZ02020Z0Z0OZ0OEOR0Z020
0C0CCEPECOCOCCHCECo
+ + + + + b ,,,O,JLEWV
+’ + o+ 4’* &’« ++ o+ '4 o~
f
SPEZIFIKATION
Artikelnummer: LDTICARK
Produktart: 19-Zoll-Rackwanne
Kompatibilitat: Gerdte der LD TICA Serie
Material: Stahl
Oberflache: Pulverbeschichtet
Farbe: Schwarz
MaRe (B/H/T): 485mm /437 mm /400 mm

Gewicht (ohne Frontblenden): 17kg
Zubehdr inklusive: 8 M3 x 10 Senkkopfschrauben, 1Satz Frontblenden

Zubehdr optional: Halb-19-Zoll Frontblende

LD Systems” is a registered brand of the Adam Hall Group
Adam Hall GmbH | Adam-Hall-Str. 1| 61267 Neu-Anspach | Germany | Phone: +49 60819419-0 | adamhall.com


https://cdn-shop.adamhall.com/media/pdf/MANUFACTURERS-DECLARATIONS_LD_SYSTEMS.pdf

